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Kf;Nfhzpfs; - ii 
juk; - 10 njhFg;G - nr . Fzrpq;fk; 

Nf/nj`p/ = fjpNurd; Njrpa ghlrhiy 

    

  ,Urkgf;f Kf;Nfhzpfs; ;; 

xU Kf;Nfhzpapd; ,U gf;fq;fs; rknddpd; mJ ,Urkgf;f Kf;Nfhzp 

vdg;gLk;.  cUtpy; Kf;Nfhzp ABC ,Urkgf;f Kf;Nfhzp MFk;. mjpy; 

gf;fk; AB = AC  MFk;. Kf;Nfhzpapd; xt;nthU gf;fj;jpw;Fk; vjpNuAs;s 
Nfhzk; mg;gf;fjpd; vjpu;Nfhzk; vdyhk; 

 A 

B C 

gf;fk; AB apd; vjpu;f; Nfhzk; ACB Ak; 

gf;fk; AC apd; vjpu;f; Nfhzk; ABC Ak; 

gf;fk; BC apd; vjpu;f; Nfhzk; BAC Ak; MFk; 
 

<
 

<
 

<
 

 xU Kf;Nfhzpapd; ,U gf;fq;fs; rknddpd; mg;gf;fq;fSf;F 
vjpNuAs;s Nfhzq;fs; rkdhFk;. 

 

Njw;wk; 
;; 

B C 

A 

Kf;Nfhzp AB = AC vdpd;  

 ABC =  ACB MFk; 
 

<
 

<
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cjhuzk; - 1 
P 

Q R 

Kf;Nfhzp PQR ,y; PQ = PR,  PRQ = 700  MFk;.  

I. PQR  ,d; gUkd; 

II. QPR  ,d; gUkd; Mfpatw;iw fhz;f 
 

<
 

<
 

<
 

II. PQR = PRQ   ( gf;fSf;F vjpNuAs;s Nfhzk; ) 

/ PQR = 700 

𝟕𝟎𝟎 

<
 

<
 

<
 

I. PQR + PRQ + QPR =  1800  ( Kf;Nfhzpapd; mff;Nfhzq;fspd; $l;Ljnjhif  

    1800 MFk;) 

 700 + 700 + QPR =  1800   

          1400 + QPR =  1800   

   QPR =  1800  − 1400  

  QPR =  400 

<
 

<
 

<
 

<
 

<
 

<
 

<
 

gapw;rp  

,g;NghJ ehk; vkJ gapw;rp Gj;jfj;jpy; 105 k; gf;fj;jpy; 9.1 gapw;rpapy;  

(2) ii , iii  tJ tpdhit ghug;;Nghk.; 

 

Kf;Nfhzp ABC ,y; AB = AC MFk;  

                 

        /  ABC =  ACB  
 
 ABC =  ACB  = 
  
 

 
1800 −  80

2
    

 

 

 

 

 

 

 

 =   500   

 

 

 

 

 

 

 

Kf;Nfhzp PQR ,y; RP = RQ ( juT )  

                  

      /  RPQ =  RQP  
 

 RPQ =  RQP  = 
  
 

 
1800 −  90

2
    

 

 

 

 =   450   
 

 

 

𝟗𝟎𝟎 

<
 

<
 

 <
 

<
 

<
 

<
 

<
 

<
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cjhuzk; - 2 

cUtpy; KLN = 300, LNM = 1000 LKM = 𝑥 vdpd; 𝑥 ia fhz;f. 

 

<
 

<
 

<
 

Kjypy; juTfis 
cUtpy; Fwpf;f. 

 𝟑𝟎𝟎 𝟏𝟎𝟎𝟎 

𝒙𝟎 

Kf;Nfhzp LMN ,y;  

LM = RQ ( juT )  

NLM  =  NML  =  𝑦  ( gf;fq;fSf;F vjpNu cs;s Nfhzk; )  

                   
 
LNM + NLM + NML  = 1800  Kf;Nfhzpapd; mff;Nfhzq;fspd; 

$l;Lj;njhif 1800 MFk; 

 

1000 + 𝑦 + 𝑦  = 1800   

 
1000 + 2𝑦   = 1800   

 
                  2𝑦   = 1800  −1000 

 

                  𝑦   = 400  

  2𝑦   = 800      ( ,uz;L gf;fKk; 2 My; tFf;f )       

MfNt LMN  = 300 + 𝑦  

      LMN  = 300 + 400  

      LMN  = 700  

KLM + KML + LKM  = 1800 
 

Kf;Nfhzp LMN ,y;  

LM = RQ ( juT  

                   
 

700  +  700 +   𝑥  = 1800 
  1400 +   𝑥  = 1800 

 
  𝑥  = 1800 − 1400 
   𝑥  = 400 
 

 <
 

 <
 

 <
 

 <
 

 <
  <

 

 <
 

 <
 

 <
 

 <
 

 <
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,e;j tpdhit ftdpg;Nghk; 

njupahf; fzpaj;jpd; %yk; fhl;lg;gl;Ls;s Nfhzj;jpd; gUkidf; 
fhz;f. 

A 

B 

C D 
E 

,q;F 𝑝, 𝑎 Mfpatw;iw fhz Ntz;Lk; 

Kf;Nfhzp ABD ,y;  

AB = AD ( juT )  

ADB  =  ABD  =  𝑃  ( gf;fq;fSf;F vjpNu cs;s Nfhzk; )  

                   
 

 ADB  +  ABD  =  EAB  ( Gwf;Nfhzk;, mfj;njjpu; Nfhzk; )  

                   
 

 𝑝     +     𝑝  = 1400   
 

   2𝑝  = 1400   
    𝑝  = 700   

 
mNjNghy; Kf;Nfhzp BDC ,y;  

                       BD = DC ( juT )  

                    DBC  =  DCB  =  𝑎  ( gf;fq;fSf;F vjpNu cs;s Nfhzk; )  

                   
 
 DBC  +  DCB  =  ADB  ( Gwf;Nfhzk;, mfj;njjpu; Nfhzk; )  

                   
 

 𝑎     +     𝑎  = 700   
 

   2𝑎  = 700   
    𝑎  = 350   

 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

<
 

<
 

<
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,g;NghJ ehk; vkJ gapw;rp Gj;jfj;jpy; 106 k; gf;fj;jpy; 9.1 gapw;rpapy;  
(6)  tJ tpdhit ghug;;Nghk.; 

 

A 

B E 
C D 

i. ,j;jfty;fis tupg;gglk; 
xd;wpy; fhl;LNthk;. 

 

Kf;Nfhzp ABC apy; 

AB = AE  

 

mff;Nfhzk; CAE ,Urk$whf;fp  

BD ia D apy; re;jpf;fpd;wJ  

 

AC = BC Mf ,Uf;FkhW C 

MdJ BE apd kPJ cs;sJ  

 

ii.  ABC  = 400 vdpd;, DAC apd; ngWkhdj;ij fhz;f. 
 

Kf;Nfhzp ABC ,y;  

AB = BD ( juT )  

ABC  =  BAC  =  𝟒𝟎𝟎  ( gf;fq;fSf;F vjpNu cs;s Nfhzk; )  

                   
 

𝟒𝟎𝟎 

𝟒𝟎𝟎 

Kf;Nfhzp ABE ,y;  

AB = AD ( juT )  

ABC  =  AEB  =  𝟒𝟎𝟎  ( gf;fq;fSf;F vjpNu cs;s Nfhzk; )  

                   
 

𝟒𝟎𝟎 

 ABC  +  BAC  =  ACE  ( Gwf;Nfhzk;, mfj;njjpu; Nfhzk;  )  

                   
 
   400    +     400  =  𝐴𝐶𝐸  

 
     800  =  𝐴𝐶𝐸  

 

 cUit ed;F mtjhdpAq;fs;    

                   
 

𝟖𝟎𝟎 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
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Kf;Nfhzp ACE ,y;  

                   
 
CAE + ACE + AEC  = 𝟏𝟖𝟎𝟎 
 

  CAE +    800  +  400  = 1800 
 

𝐴𝐶𝐸  = 1800 − 1200 
 

  𝐴𝐶𝐸  = 600 
 

CAD + DAE   = ACE 

 CAD  + DAC   = 600 
 

CAD = DAE   ( juT ) 
 

/  CAD   = 300 
 

MfNt  

            

 

    

  
 

  CAE +    1200 = 1800 
 

,U rkgf;f Kf;Nfhzpfs; Njw;wj;ij epWTjy; 

 xU Kf;Nfhzpapd; ,U gf;fq;fs; rknddpd; mg;gf;fq;fSf;F 
vjpNuAs;s Nfhzq;fs; rkdhFk;. 

 

 juT :  

 
Kf;Nfhzp ABC ,y; AB = AC MFk; 

 

 <
 

 <
 

 <
 

 <
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 <
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 epWt 
Ntz;baJ 
:  

 

 

ABC = ACD 

 

 mikg;G :  

 mff;Nfhzk; BAC  apd; ,Urk$whf;fpia 

tiujy;. mJ BC ia D apy; re;jpf;FkhW 
tiuf 

 

 epWTjy; :  

 
Kf;Nfhzp ABD, ACD Mfpatw;wpy;  

 

BAD = DAC ( BAC apd; 

,Urk$whf;fp AD Mifahy); 

 

AD  MdJ ,U 
Kf;NfhzpfSf;Fk; 
nghJgf;fk; 

 

AB = AC  ( juT ) jug;gl;Ls;sJ 

 

/ ∆ 𝑨𝑩𝑫 ≡  ∆ 𝑨𝑪𝑫 
   ( g. Nfh. g ) 

 

  ( xUfpirT ) 

 

  xUfpirAk; Kf;Nfhzpfspy; xj;j cWg;Gf;fs; rkdhFk; 

    ABD = ACD 

  /  ABC = ACD 

 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
 

 <
  <

 

 <
 

 ,Nj Nghy; gapw;rp Gj;jfj;jpy; Vida 
tpdhf;fis nra;J ghu;f;fTk; 

 


